ﬂ? |dentifying Rate of Change Between Two Sets
Calculatethe difference in Rate of Change between Set A and Set B.

1)

2)

3)

4)

5)

6)

Name:

Answers

I x]o| 2] s 8
Set A
ly|lo| 4| 12| -16
I x]o| 4| 7 9
Set B
ly]ol|-38|-665]|-855
| x]o|l3]| & |8
Set A
ly|]o|[| 30 |4
Il x]o|lse | 7 |8
Set B
ly|o|s7|ess| 76
I x]o|2]6]7
Set A
l y]o|w]|3]s3s
| x]o| 4] 6] 8
Set B
l vy ] o|a4]|e | g
{x]o] 2] 4]c6s
Set A
ly|]o| ] 22]a3s
| x]o]| e ] 910
Set B
| y|o]| 5] 8-
[ x]o| 2] 4 |s
Set A
lylo|5 ] 0 |2
{x]o| 2] 7 |s
Set B
ly|o|2u] 735 es
Il x]o| 2| 7] 9
Set A
ly]|o]| 16| 56| -7
| x]o]| 2| 7 | 1
Set B
ly]o]|-18|-63] -
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ﬂé |dentifying Rate of Change Between Two Sets Name. Answer Key

Calculatethe difference in Rate of Change between Set A and Set B. Answers
1) [ x]of 2 6 8
Set A y=-2X 1 7.5
ly|lo| 4| 12| -16 '
[ x]of 4 7 9 5 4.5
Set B y=-9.5x
ly]ol|-38|-665]|-855
3 5
2 . ol e8] . + 145
y=5x
ly|]o|[| 30 |4
5 8
Il x]o|lse | 7 |8
Set B y=9.5x
ly|o|s7|ess| 76 6 1
3) - I x]o|2]6]7
y=5x
l y]o|w]|3]s3s
| x]o| 4] 6] 8
Set B y=10x
l vy ] o|a4]|e | g
4) {x]o] 2] 4]c6s
Set A y=5.5%
ly|]o| ] 22]a3s
| x]o]| e ] 910
Set B y=-9x
| y|o]| 5] 8-
5) [ x]o| 2] 4 |s
Set A y=2.5x
lylo|5 ] 0 |2
{x]o| 2] 7 |s
Set B y=10.5x
ly|o|2u] 735 es
6) - | x]o] 2 7 9 .
y=-8x
ly]|o]| 16| 56| -7
| x]o]| 2| 7 | 1
Set B =-9x
ly]o]|-18|-63] -
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